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{ Questions | -40)

Directions (Questions 1-4): Each one of these guesitons has o gronp of sewrences mavked A, B, C. D
and E. Arrange these to form a logical seqrence.
I. A, Thisis the reason for achieving high scademic excellence, 4

B. All these professars are highly qualified,

C. This university has now completed 100 years, {

D. Initially. the university had only six departments_ e

E. Now, it has 100 professors working in 30 departiments. &

(1) DEABC (3} CDEBA (J/CBAED {4) EABCD

2. A, These were mainly bulwarks against winter, the hourded umg.« of miore plentiful seasons.

B. The first were the earliest mince pies, which saw cooked, shredded meat, dried fruits,
alcohol with its preservative qualitics and perhaps a few spices or herbs, all encused in lurge
pies.

C. Subsequently. people buked this into a Kind of pie, adding breadcrumbs for bulk, eggs to
bind it, and upping the dried fruits and called it *plum pudding'.

D. The pudding seems to have had two principal forerunners.

E. The second muin pudding was a pottage or soup called frumenty, o fust dish involving
cracked wheat, currants and almonds which was ladled out at the start of a meal.

(1) DACEB :?’Xl' BAECD {31 ECDAB (4) DBAEC
3. A, Imitially, he did not do well in school, %

B. Now he is a well known professor in a university, o

C. He was bom in a very poaor family. %

D. But, he really worked hard in college and did well there,

E. Students respect him a lot for his knowledge and conduct, 5

(1) EDBAC {2) BCADE (3) CBADE .@5 CADBE
Code-11/G 2
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. In @ bid to placate the associate menibers, the 1CC has decided 10 increase the number of

participating tewms ta 16 in the Twenty20 World Cup, as the game's governing bady feels
these countries will have o greater chance of competing on an equal footing in cricket's
shonest format.

. It is convenient just now to forget that in the lust edition of the tournament, considerable

eriticism was heaped on the governing body for the inordinate length of the tournament.
thanks in lurge pait 1o the presence of the associales,

. Ta be fuir o the ICC, eriticism of the move to restrict the number of teams in the next

edition of the Cup is 4 case of damned if you do, damned if you don't.

The ICCs decision 1o resteict thé number of teams in the 2005 World Cup has evoked mixed
responses, with opinion divided among players of the full member teams.

Mot surprisingly. the associate members aren’t too thrilled about the idea of being kept out
of cricket's showpiece event,

@) DACEB (2) BAECD (3) ECDAB __#) DEACB

Directions {Questions 5-8): Choose the opfion wihich best expresses the meaning of the underiined
fefieomeiphrase in the sentene.

-

Harassed by repeated acts of injustice, he decided to put his foor down.

(1} to resign (21 not to vield
mm withdraw {4} 1o accept the proposal unconditionally

f.  There is no love losr between the (wo neighbours,

1) close friendship {2) a love hate relationship
(3) imtense dislike {4) cool inditfference
7. Whenever | meet him, he pulls a |ong fuce.
A1) looks angry {2} looks cheerful
(1) looks gloomy 14} looks indifferent

%, When the police came, the thieves took to their heals.

i 1) were taken by surprise (2} ok w fight
{3} hid somewhere (4} opened fre
Code-11/G 3
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Directions (Questions 9-12); Chaose the werd which best expresses the megning of the underlined

wiareh i e sentence.
g, The inspector was afan vigilant youngima,
(1) smart @wuu-hful (3) ambitious AT intelligent

10, Sanjay is going to disburse the bill for repairs of my car.
(1) own _@pﬂy (3) elaim (4 stund

11, Millionaires become gecentric in their old age.
( 1 imitahle (21 peculiar i dull (4} miserl
P4 i e ;

12,  He listened to my request with jpdillerence.
(1} caution (2} displeasure @disint:rﬂl (41 concermn
[l

Directions (Questions 13-16): Choase the word wirich is apposise in meeming of the wndertingd word

i the senfetice.

13. Mother Ter? devored her life 1o the service of the poor and the destitute,

@gr:cdy (2) noble 3 ril::h';}-/ I[5,»1-'] extraordinary

14, Weshould not belittle other's achievements.

-
I

!‘Lé,"remmmend {2} encourage tgj dispurage i4) inspire
T - 1

15, Heis adamant on going today,
J«( ) confused (2] lenient £3) indecisive (4} vielding

16, Let us not agaravate the sufferings of the poor.
{11 abbreviate (2) alleviate i3) advocate _{# appreciate

Code-11/G 4
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Directions (Questions 17-200: Each of these questions bas a sentence given i Joar different forms,
Chesesse Hee et appropriate form of wiiting.

B [/Li/Hcr heart was mare Full than it had ever been, but it was full of joy, and not of sormow.
-
(2) Her heart was fuller than it had ever been, but it was full of joy, and not of sorow,
%) Her heant was more full than it have ever been. so it was full of joy. and not of somow.

@ Her heart was fuller than it had ever been, but she was full of joy, and notof sorrow, o™

1B, (1) That last word doubtless contains an allusion 1o some scene thar had token place between
them,

{2y That last word doubiless contwmed an illusion o some scene that take place between them,

() That last word doubtless contained an allusion 1o some scene thay had taken place between
them.

p
{41 That last word doubiless contained an illusion to some scene that had taken place between
them,

19, {1} We have written (o you yesterday sboul this matter,
{2) We wrote 1o you yesterday about this matter.

}J‘f We written to vou yesterday about this matter,

_ We wrode you yesterdoy about this m:un:r./

20, (1) The brotal direct of the masculing shopper arouses a certain combative derision in the
fermmine onloaker.

Qf-Th.[' brutal direciness of the masculine shopper arouse a certain combative derision in the
feminine onlooker.

{¥) The brutal directness of the masculine shopper arouses o certuin combative denision in the
feminine onlooker.

{4} The brutal directness of the maseuline shopper arcuses o cerlain combative derision for the
feminine onlooker.

Code-11/6 5
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41.

43,

45,

46,

47,

48,

PART:IL
{Questions 4 1-100)

IF & number is multiplied by 22 and the same number is added to it, then we get a nomber that is
half the square of that number. Find the number,
i) 45 (2} 46 i3 47 _4) Data insufficient

The product of two digit number by 1 number consisting of the same digits written in the
reverse order is equal to 2430, Alse the difference hetween the numbers is 9. Find the smaller
number.

(1) a3 B e i3) 63 _(#) Nane of these

The average speed of a train is 209 less on the returm journey than on the onward joumey. The
vrain halts for half an hour at the destination station befure starting on the return journey. If the
total fime taken for the toand fro journey is 23 hours, covering a distance of 1000 km, the speed
of the train on the retum joumey is

{13 60 kmfhr. {27 30 kmihr. (33 20 km'hr, E"1[,,-111 55 kb,

A vessel is full of groundnut oil. One-fourth of the groundnut oil is tuken oul and the vessel is
filled with mustard oil, If the process is repeated 4 imes and 10 litres of groundnut oil is Tinally
left in the vessel, What is the capacity of the vessel?

Ma Itr. (2 1:‘]"] Ihr. (3) i::ﬂ Itr. (4) None of these

The price of a pen and a pencil is T 35, The pen was sold ai a 205 profit and the pencil at a 0%
jass. If in the transuction o man gains ¥4, how much is cost price of the pen?
(el (2S5 (3T20 {4) None of these

o
A man invests T 10,000 in some shares in the eakio 2 03 5 which pay dividends of 10%, 25%
and 20% respectively on his investment for thut yeur. Find his dividend income.

(1 ¥ 1900 (2) T 2000 3y T 2050 ...fH] T 1930

The cost of food sccounted for 25% of the income of particular family. If the income gets
raised by 205, then what should be the percentage deerense in the food expenditure as a
percentige of the total income 1o keep the food expenditure unchanged between the two years?
(1) 3.5% (2r8.33% {3)4.2% (4) 5.0%

4
A man buys 50 litre of oil ar T 10 per litre and another 40 litre of oil at ¥ 12 per litre and mixes
thern, He sells the misture at the rate of 2 11 per litre. Whal will be his gain per cent if he is
able 1o sell the whole oil?

I

1K) A1
I =% 2 100— %% 30— 45 M [ thies
D% .'[/‘/ 44 S = il
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A sum of money placed at compound interest doubles itself in 3 years, In how muny vears will
it amgunt 1o B times iself? ;

_F,(,L—I"J years {2) 8 yeurs (3127 vears (41 9 years

The present ratio of the sges of A and 8 is 4 : 5. 18 years ago. this ratio was 113 6. Find the
summ total of their presem ages.
1) 80 yedrs (2) 90 yeurs 130 110 years 14 105 veurs

There is o number lock with four rings. How many attempts ot the makimum would hive 1o he
miade before getting the right number?
(1 10 (2) 255 B0t -1 (4) 256

A swimming pool s fitted with three pipes with uniform flow. The first two pipes operating
simultancously, fill the pool in the same time during which the pool is filled by the third pipe .
alone. The second pipe fills the pool 10 hours faster than the first pipe and 8 hours slower than
the third pipe. Find the time required by second pipe 1o fill the pool.
{1y 10 hrs (2312 0s (3 20 hrs {41 30 his

G

Raju can do a piece of work in 10 days, Vicky in 12 days and Tinky in 13 days. They all start
the work together, but Raju leaves after 2 days and Vicky leaves 3 days before the work is
completed. In how many days is the work completed?

(1) 5days L}J&"ﬁ days {33 7 days (41 8 doys

Several teams take pant in a competition, each of which must play one game with all the other
teams. How many teams took part in the competition if they played 45 games in all?
(s (2) 10 315 (4) 20

A plane keft half an hour later than the scheduled time and in order 1o reach its destination 1500

km away in time. it hod 10 increase its speed by 33—: per cent over its usual speed, Find its

increased speed.
(1) 250 kmm _J21 500 km/h (3) 750 km/M 4y 1000 ki
: ™. . = 0 U
Which disease/disorder is caused by the deficiency of Vitumin A
(1) Beribeari 12} Scurvy Loss of vision (4) Rickets l
"5{"*—
An adult human being has canine teeth. G

(1) eight @ four )@ twelve (4} six

Who is the Union Minister of HRD?
i 1) Maneka Gundhi @Smmi Zubin lrani (3} Dr, Harsh Vardhan (4) None of these

Code-11/6 I,{_E‘_g_ 'I}' 3 g \ |II‘L- 1|.- l/’%(' -
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59.  As per Indian history, Daman and Diu was —_colony. !
@ Portuguesey~ {2} English _{3) Dutch {4} French
60. In which country is the voleanic mountain ‘Mt Kilimanjaro” located”
(1) Japan - @ Tanzanis, (3 Indonesia {4) The USA

61. Directive Principles of State Policy in the Constitution of India have been adopted from which

one of the following countries?
L UK @ Iretand > {3) Austrulia {4} Germany

62. The axis of the earth is stated 1o be inclined at an angle of ﬁb—“ with reference lo

(1) equator, (2) wopic of cancer.  (3) plune of I:hc ccltpng’ arctic circle.
63. What does Solur Constant refer 1o? ! :
(1) Temperature of the sun (2) Muss of the sun
f@ Altitude of the sun - (4 Energy received from the sun
64. Which one of the following committees was constituted for reforms in tax structure in India?
(1) Nargsimham Commitiee (2) Chelliah Committes
{3) Gadgil Committee % Kelkar Committee

65. The Eighth Five YearPlan was for the period
(19 1992-1997, 7 (2) 1997-2002. (3) 2002-2007. _44) 2007-2012,

6. Who won the men's singles title of the US Open Tennis Grand Slam 20147
(1) K Mishikori Marin Cilic (3} R Federer (4} N Djokovic

67. Which among the following voted against independence from UK on 18 Seplember 20147
_{/M Morthern Ireland @ Scotlund {3y Wales (4) None of these

68. Who was the flag bearer of the Indian contingent during the opening ceremony of the 17" Asiun
Games? 2
¥} Abhinav Bindra  (2) Leander Paes .[f'.‘t) Sardar Si.ngh‘-""f (4} Gugun Narang

£9. Who among the following won the ‘Tang Prize 2014" in Sustainable Development, which is ulso
cilled the Nobel Prize of Asia?

((1)G HBrunddand  (2) J P Allison 3 YuYing Shih  (4) None of these
70, ‘Who among the following was nominated as the USA ambassador 1o India in September 20147
(1) Alex Salmond (2} Tulsi Gabbard
Richard Rahul Verma (4) MNone of these

Code-11/G 10
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Directions (Questions 71-72% i cach of these grestions, owr of four dprions three are similar i
certain way, Find the odd one our. Lo

T

(1) 3beds (2) Tgh!2 (3) 2pgr? a;ﬁzwwm

-

QTl\ (1) 81276 2 424?451/'/ (3) 71408 /9{51355

Directions {Questions T3-75): In vach of these guestions, o statement is followed By Tweo assimpifons
{ anid 11 An asswmption is something suppesed or taken’ for primred) Consider the statement and e
asseanptions dmd decide which of the asswprions is fuplicic i the sratentent.

Mark the answer as

73.

&

15,
(:l'ifl Assumptions:

_E1y il only Assumption 1 is implicit.
(2} if only Assumption 11 is implicit.
i3) if neither Assumption | nor Assumption I1 i implicic
i4) it both Assumptions | and IT are implicit.

Statement  : The civic authority has appealed to the citizens (o cooperite in curbing rmpant

power theftin the locality.
Assumplions:
I. The local citizens group may respond to the request and help authority detect such case of
power theft.

II. Those who are engaged in stealing power may stop doing so for fear of sociul castigation.

Statemeni  : Wars must be discouraged vehemently even though mujority of the victims
might have been a nuisunce 1o peace-loving people,

Assumptions:
I. Innocent people are also Killed in wars,
It Vehement opposition to wars may huve some desirable impact.

Statement  : Nobody con predict as to how long our country would take to contain the
unfortunate and disastrous terrorist activities.

I Irisimpossible w put an end to terrorist activities,
_JI. Efforts o control the terrorist activities are on,

Code-11/G 11
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Birections { Questions T6-80): Suwdy the information below 1o answer these questions,

There are three Tamilies related o each other either through marriage or blood relation. While hlood
relation is present either between the siblings or among direct or indirect descendants of o person.
Social relations are established through murmiage between o man and woman each from two different

families, The relationships among them are as below:

T6.

77.

TH.

(1) Mrs Bh%ll‘?ltl and Mr Maourya are related through muorrigge. while Mr Jvl}.l-.hl is o distunt

cousin of both Bhairab and Maurya.
iy Reshmi, Rajan and Mohit are children of Mrand Mrs. Bhairab,
(i) Sira, Maninder and Sukhindér are children of Mr. and Mis, hium'_ﬂ. - {L'f_.. _
(iv) Garima and Rakesh are daughter and son of Mr, and Mrs. Joshi.”
(v} Garima’s husband is Sukhinder and they have three children: Rita, Anil and Raju.
(vi) Mohit and Sita are married 1o each other and Ashok and Sonu are their children.

-

How is Maninder related to Raju?
47 Father {21 Brother-in-law (3 ousin {41 None of these
f—*"}f

How is Mohit related to Sukhinder? i
L.[fu Unele .@fnusin (3) Brother-in-law {41 None of these

Which fumily does Somu belong 1o?

Bhairab & Maurya  (2y Joshi & Mowrya
(3 Maurva & Garima (4} Sukhinder & Joshi

I.:’h? E-‘ju % SUFTRIME 15

i L}”“"'h' {21 Bhairah. %MWI‘)‘;I-. x%c of these

30,

If Rita were to marry Ashok. how would she be related 1o Reshim?
(1} Daughter-in-law €23 Mother-in-law Lg;) Nicce (4) None of these

Mrections (Questions 81-831: Complete the series be reploacing ©7"

81. AT0B, D65F, HE0J, 7, PSOR ;
(1) KSSL (2) L55M Vm’i.ssw : (4) L5SPv
82, |WZI, 2AD4, 3EHY, 41L16, 7', 6QT36
() SMP25 (2) 5MQ25 (3) SPM20 (4) 6NP25
w
83, Y2B, W3E, UAL 85N, Q6T, 7
(1} NTY (21 MTZ lgf'mz (4) O7A
Code-11/G 12
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Directions (Questions 84-85): In cach of these guestions, therve is some relationship between the pwo
terms to the defi of 22 and the xaine relationship exhibits berween the twe ferms of jis vight. A missing
rerm ix indicated by 2. Cloose the missng e ffom the fiar altermatives g fven.

84. Curtographér - Muop:: Band: "
i1y Book ’_’E}i} Sanctuary {33 Mould {4) Poetry

85. Antibiotic: Bacteria : ; Pesticide ;
__}JJ Insects (2) Wounds {3) Crops (4) Vegeubles

%6, In M3 Word, the mailing list is known as the
(1) Trata Sheet. (2} Source. @ Data Source. (4) Sheet.

&7, Where can vou find the horizontal split baron M35 Word screen?
< {1} On the left of horizontal scroll bar
AT On the right of horizontal scroll bar
((3) On the top of vertical seroll bar
{4} On the battom of vertical seroll bar

@} What process should be used to recall & document saved previously?
(1) Copy 42 Save @ Dpen " {4) Enter

89, In MS Excel, when copying a formula 1o new cell,
i1} the original copy of the formula is enised,
relitive cell references ure automatically adjusted in the newly copied cell.
i 3) ubsolute cell references are adjusted automatically.
(4 relative cell references are not adjusted.

90, - In MS Excel. the Formula Bar 15 used o
(11 enter a formula, (2} edit a formula,
(3) enter data in a cell. - (AT Al these

91, How many worksheets are there by default when we create a new M5 Excel File?
(11 (2)2 A)3 ) 4 |

e

02, [n M8 PowerPoint, the command that brings you to the first slide of your presentation is
(1) Cele1. {21 Ali+Home. S/@ Cirl+Home. (41 Alt+].

Code-11/G 13
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93 In MS Word, word wrap 15 a
(11 feature which automatically dnsmn-:m a line.
(21 step to ditach o deta.
)l feature which m;tun_:l__qticully places a word on the next line,
{4) MNone of these

94 Incomputers, o firewall is afan
i 1) established network performance reference point.
@mﬂwam ar hurdware Used toisolate a private network from a public network,
31 virus that infects macros.
(4) predefined encryption key used toencrypt and decrypt data transmissions:

95, A news website’s homepage should be a )
(L) static webpage, _@ dynamic webpage.
(3} sumber webpage. (4) jovial webpage.

96. In o computer, motherboard is
(1) used 1o store files and programs temporarily for fast and easy access by the CPUL
i2) u type of permanent memory used by the computer 1o establish basic input and output.
i3) o device that reads data stored on hard disks,
device contuining circuitry for the CPU, keyboard and monilor with expansion copability,

97.  Incomputer, o comment in a program s aan
(1) instruction that causes an action to take place,
,@é explanation of what the program does.
i3) expression that holds a value when the program runs,
(4) special propeny that all objects have.

.,L:E"E Who designed the irst electronics computer ENTIAC?

(1) Van-MNeumann (23 Joseph M. Jacquard
@ 1. Presper Eckert and John W Mauchly {}9] MNone of these

99, 1n MS Word, the feature used 1o display 2, in HpQLis
Subscript

1) Superseript. {2) Lowerscript, {4) Bottomscript,
E@J An error in software is called a bug, What is the alternative computer jargon tor it?
(1) Leech (2) Squid (3) Slug g_i) Glitch
Code-11/G 14
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